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What does it mean to solve? Find all values that make a sentence true.
Compound Inequalities
"and" - Solutions must satisfy both of the inequalities.
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"or" - Solutions must satisfy at least one of the inequalities.
Numbers that are more than 5 units away from zero.

=
6 ~5-432:00 12345 6
W—S or KX 75j
Exl: x20 and x<I10 Solutions | Not Solutions

(C£R=Tof 5| N
él—‘—l—l-l-l—H—H-@—l-% O |

Ex 2: (xS—S or x>5) - —
& z | 0
MM S

4 2340123456




Algebra 6.4-Solving Compound Inequalities 2015-Key.notebook

December 09, 2015

Ex 3: —(9)< 6x ;l-( E)S 3&\ Solutions | Not Solutions
1) 1) 463)
“la Lo £ 36 O —&
¢ o e ]
n <
(2< X£G) 4 -2
S 2 | 5¢
Dl o laygse T 1 G.00%
Ex4: 17<5-3x<29
IQ< 3¢<a" o
e _ :‘J!- ?}00
4> 7%
G—l—m—l—l— ©
>
~0~H -6 -4 -3 OI:])
Ex5: 84+2x<6 or 3x-2>13 Solutions | Not Solutions
AL =X 07 x4
(’)((" or l)(>‘5j é O
— -~ - ]ool
“— D+ > l
"V 0Vvaazly4Yys o

Ex6: 3x—1<5 or 2x+5>-7
3wl of QxS X "‘9‘9 4
XL ¢ X< G 2

@Ze]

< 4

SR



Algebra 6.4-Solving Compound Inequalities 2015-Key.notebook December 09, 2015
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